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Q1 wF 55g 12% # @fs T 4= o131 afg g 1630 e & &=h eh, o 6% @ T BTl I HOFT
TFT A H

Ans o 1. 33,500
< 2 32,800
«< 3. 33,000
< 4 2,500

Question ID : 4244291270
Status : Answered
Chosen Option : 1

Q.2 AABC, vw wA=T Reg= &, OWH T A GASIT & SHA TS 3 ged W= o § @EST
FAT TR &Y AT Fr FFESA 48 cm HR 14 em §| g Fr e

Ans X 1.8 em
v'2 6 cm
<35 cm
<4 4 cm

Question ID : 4244291279

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Production (in 10,000 tennes)

Ans

50
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30 4
20 4
10 4
o

Q3 Ry aw 9 T F I3eETF FT AR B TT R F FeW S

TF FOAT T BffeT aut & 36T # 3aeA (10,000 == #)

90 5
80 4
70 4
60 4

a0

75

1995 1996 1997 1998 1999 2000 2001 2002

Years

2000 3T 2001 F 3ifwT 3ooEs TealoeT # ¥ 5w I35 F Ea soea & w9 ur?
« 11999 3T 2000
v 22001 3T 2002
< 3 1997 3T 1998
X 41996 3T 1997

Question ID : 4244291289
Status : Answered
Chosen Option: 2
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M g +yi=163T x+y=4 % T 1t +y* F AT AT F
Ans X 1. 64

v 32

<3 30

X 4 48

Question ID : 4244291278
Status : Answered
Chosen Option : 2

Q.5 faar mam - ofw RfeT gt § A Reaiet & sk @ TRk wxar §) et &
T FEaT 2800 E

Cricket
. \.239% / Football
Tennis 25%
14%

Kabaddi | Hockey
12% | 26%

gy 3t ow ot & F awa Reantiat $r siea = 79 w1t
Ans X 1. 540

X 2 460

v 560

X 4 580

Question ID : 4244291286
Status : Answered
Chosen Option : 3

Q.6 sin®@-5cos i
gfe V3 cosf =sin @ %, Fﬁ'w T AT AT FL

FcosB+1
Ans

Ko

L | k2

L | =

A e | e

Question ID : 4244291284
Status : Answered
Chosen Option : 2
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Ans 1. 718,500
X 2 15,000
X 3. 216,000
v 4 18,000

Q7 =7y B BfEE aw-ofr © 10% 9 99 & T § O 9F F wwefy s AR awemer ane & 9
AT IB58 §, A 4F-TRT A F

Question ID : 4244291272
Status : Answered
Chosen Option : 3

Ans X 1. 25 km/h
v 2 30 km/h
X 3 20 km/h
X 4. 35 km/h

Q.8  gw 3k frye 30 km #r g T FT& §1 A A F AT 70 kmh § I 5T g H
T FA A W % GENT O I FoF FAT 2 GeT 6 TR g1 SR At & @ i

Question ID : 4244291274
Status : Not Answered
Chosen Option : --

metres), is:

Ans X1 130m
<2 125m
'3 140m
<4 120m

Q.9 If3.96 cubic dm of lead is to be drawn in to a cylindrical wire of diameter 0.6 cm. then the length of the wire (in

Question ID : 4244291275
Status : Not Answered
Chosen Option : --

Ans 1. 40 cm
v 2 48 em
<3 42 cm
< 4 46 cm

Q.10 10 cm fa=aw 3T 359 & &5 O & 26 cm & gff W v fag A fewm §1 AP 3t AQ, 39 WX fBwm &
T fagat P 3t O W 7T W@ §) 3% v w9 @ BC Tg R W i A §, ST AP #1 B W
T AQ &I C W wioRs F= & T &g 99 PQ | Byd &, aF sABC & TR&ET A #{I

Question ID : 4244291280
Status : Not Answered
Chosen Option : --
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T+ T x (7T 7))+ T+ T H HAEA FY
ms X1 5

X263

X210

v 64

Question ID : 4244291266
Status : Answered
Chosen Option : 4

Q12 A 37 B v Ty et R+ 7 15 Ra & 9@ = @ €1 B 3K ¢ v @ e
3 F F 24 o # @ A v § I A, F FH F A g C F g E T B
IS IH FE F R T A @ w82

e o160 RaT
<2 52 f&a
X3 40 &=
X4 45 R

Question ID : 4244291273
Status : Answered
Chosen Option: 1

Q13 grerdr & 10% GST wfya 28,800 & TV @ler TV & #u & w1 &)
Ans 1. 8,000

< 2. 8,800

< 3 37,920

< 4 39,600

Question ID : 4244291268
Status : Answered
Chosen Option: 3

Q.14 mmﬁagﬁgsmscﬁ,ﬁwﬁm:maﬁ:m, BC W #@¥9d &, I7¢ AD = 6 cm, 3T AABC
&1 INAT 36 cm &, A AABC & &ishel HIT 1

<145 em?
< 2 54 cm?
< 3 64 cm?
V4 48 cm?

Ans

Question ID : 4244291282
Status : Answered
Chosen Option : 4
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Q.15 & wwaTg e ABC 3R BDE & w&hR & & D, BC & #ew-fig §1 ofd Pefer ABC &7 srvwer 136
cm? &, & f= BDE FT &% & T e

<136 cm
<224 em
<338 cm
v 4 34 cm

Ans

2
2
2
2

Question ID : 4244291281
Status : Not Answered
Chosen Option : --

Q16 R 3o gR TE FT FETTT FT AHR A T 997 FT 3K

T FaAT IR e Iut & 39T F 3caea (10,000 == H)

90 -
B0 - 75

70 - 65
60

30
50 4 45
40

30 25

Production (in 10,000 tonnes)

1995 1996 1997 1998 1999 2000 2001 2002

Years

1998 & 1999 T FaThl & Sedledd # AT Fforerd JfE AT H

Ans X1 48.4%
v 2 44.4%
X 3. 50%
X 4 40%

Question ID : 4244291288
Status : Answered
Chosen Option: 2
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Q.17

1 1 .

MW opto=112 B (- 12"+ T F
p

Ans "1 1
X210
<315
v

Question ID : 4244291276
Status : Not Answered
Chosen Option : --

Q.18 faar a7 U= O faffew weit & AHia et & wfavd & Teita s &1 et &
Fo HEAT 2800 |

. Football
Tennis 259%
14%

Kabaddi | Hockey
12% | 26%

o Fre oo T 24 e S e A AT W R I &, S e ik FesEr A
Taganfit & T & 73 s 7 w4

Ans X130 17

<230:13
V'3 31:18
X431:16

Question ID : 4244291287
Status : Answered
Chosen Option: 3

R e +L)=1102 & @ (0 - L) FAGASFY, x> 07
A X176

<274

vz 84

X< 4 85

Question ID : 4244291277
Status : Answered
Chosen Option: 3
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920 7R Cos 36 =Sin (8-34°) ¥, A =TT FIT & FI F 6 F AT AT FL
Ans x-]. 17°

<2 340

3 31°

< 4 560

Question ID : 4244291285
Status : Answered
Chosen Option : 3

Q.21 5 2 s=F & gemet & & v gEw $ e A WEW a8 GO S, ar 2 3t arer At gt
F AT 6 FH 1 A §1 3H GEAT F HE & 6T 3T AT Hi

Ans X1 4
X2 2
X3 8
v 6

Question ID : 4244291267
Status : Not Answered
Chosen Option : --

Q.22 after it oo & Ja=t #7 A3 5 : 8 §1 g Fedw & a4 H 34,800 Fr I A &, A AT
FaE 7 2 10 g Srar g1 Rl & aa A w

Ans o 112,000
X 2 ¥13,000
X 3. ¥10,000
X 4 12,500

Question ID : 4244291271
Status : Answered
Chosen Option : 1

Q.23 3t uwrems gwansT w5 sET 1020 ¥ OfE 5 AT v 7.6% O AT & 12.4% ¥, @ e gt
FT TR F wET gem

Ans X1, 3520
X 2. 3250
X 3. 4520
v 4 4250

Question ID : 4244291269
Status : Answered
Chosen Option : 4
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Q24 Ffx vs5in®8 + ycos®d = sinfcosd 3 xsinf =ycosd ¥ v x% +y? ;N AT AT F
Ans X1 D

v 1

<30

<4 4

Question ID : 4244291283
Status : Answered
Chosen Option : 1

Q.25 ofy aM37094267N, 8 3k 11 =t & Remew &, =@T M it N woer 3% qoiw &, & M 3t N =1 &=

T H

Ais X1 M=5N=6
X2M=2 N=5
X3M=5 N=4
viM=5 N=2

Question ID : 4244291265
Status : Answered
Chosen Option : 4
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